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the TiTST column has only one entry not Zefo. HOWeVer Since the matrix
without that column is TUM, all its square submatrices have determinant.

0,1,-1, hence also all matrices obtained by adding the first column will ha\ie

determinants U, T,-T since all ITVS' elements are O or 1.
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the first column has only one entry not zero. However since the matrix without that column is TUM, all its square submatrices have determinant 0,1,-1, hence also all matrices obtained by adding the first column will have determinants 0,1,-1 since all its elements are 0 or 1.
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this solution contains the mistakes indicated in red.

S See next page for correct solution.
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this solution contains the mistakes indicated in red. See next page for correct solution.
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